H & 0l & AHS B Ml A

20248 =0ila eI AEXS

A HEXNS
Hu: EX
SR ET LR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HEXZ 1 2,587,598 1,412,290 1,175,308
= 46,500
== 1,849,736
[Ea 691,362
HEXEH 2,549,344 1,372,130 1,177,214
= 46,500
< 1,849,736
= 653,108
ey 637,500 537,976 99,524
= 180,320
= 457,180
ey 56,700 10,944 45,756
201 Ler=23 | 12,520 6,244 6.276
01 At2teltl 5,200 3,724 1,476
NUITHHY ARSE 7Y
70,0002 122 840
NeIRFM JREX A
8,000 38 *403] 960
NelRdM 222 M 1,900,000& 1,900
NelFBANAUS ARSI AR
150,0002 x 10 %13 1,500
02 S3=gHl 7,320 2,520 4,800
NHIHOISESEAHRUEINEH 3323
400,000& * 122} 4,800
1)RELSH 150,000& «12& 1,800
NE=2I| 0822 60,0008 1228 720
202 0o4dl 10,980 4,700 6,280
01 2L AL 10,980 4,700 6,280
1)QIPEM ADET 2UY0iH|
60,0002 x3& *563] 10,080
NI 2% L0
60,0002 *1& 152 900
301 LEtE NS 33,200 33,200
14 IIEt2 83 33,200 33,200
NEgEA XA 33,2002 +1,000H 33,200
HEUSIFETH (EX) 485,800 527,032 A4,232
=S 180,320
s 305,480
301 Eet2 NS 485,800 527,032 AN41,232
== 180,320
[Ea 305,480
14 JIEt2 = 485,800 527,032 A41,232
NEA5|Y LIS STAY
100,000 x50 « 122 60,000




M AEXAD
Hal: HEX|

Ce|: OlAHZH (CH9: &S1)

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

24,000
36,000

A H

NEYE HAX=H| K&

200,000 «2F 122 4,800
S 1,920
i 2,880

e 2 OIEIE 23Xkel X

250, 0002 %228 122 6.000
= 2,400
z 3,600
NS 28552 X
2,000,0001+70% 140,000
= 42,000
2 98,000
NELEE 2=
250,0002+1, 100 275,000
= 110,000
= 165,000
X2 = AHIE 24l 9,000 0 9,000
402 S XH2 0| & 9,000 0 9,000
01 QI AI 2 = (RRITHE) 9,000 0 9,000
1ol BATASAHE A2 X
9,000, 0002 9,000
NEPNETE 1,653,232 308,822 1,349,410
= 1,650,000
2 3,282
oIpAAYS 3,232 3,822 A5
201 Yere | 952 1,722 ATT0
01 Al 22l 952 1,722 ATTO
NeITABUS ASEBE Y
50,0008+ 122 600
NOIRAZHS L2FX fAl|
8,0002 1 24x443] 32
202 04| 2,280 2,100 180
01 ZLHOIH| 2,280 2,100 180
NOIRAEHS LRET 2ol
60,0002+ 124x383] 2,280
SEIQUIEIMIE (AZHS) 1,650,000 300,000 1,350,000
= 1,650,000
401 AI&HIL S THY| 1,650,000 300,000 1,350,000
= 1,650,000
01 Al&t 1,644,000 300,000 1,344,000
DAL HHOISE ZEHIUEIME &X)
1,644,000, 0002 1,644,000
= 1,644,000




2A:

HEXIZ 4

mE: HEX|E
&l QIFPABUS (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A& S CHYI 6,000 0 6,000
NEE MOS8 SEHRUEILWE £X
6,000,000& 6,000
= 6,000
HE 103,884 331,220 N227,336
= 6,000
== 3,000
o 94,884
HE 33,384 19,220 14,164
201 =3 23,384 13,220 10,164
01 At22t2ltl 17,584 5,920 11,664
NAELRFE oA
8,000 %22 #543] 864
DASHATAAIY AARIRS] A AL
70,0008 x424x23] 560
NASANSIRE B
70,0002 x4 +23] 560
NAHELRFE S22 (22, 8%, 22
g) M=l 3,000,000& 3,000
NASHHE 2es It 2228 78l
5,000,000 22 10,000
Nergsl ot dA sSaE 7
1,000,000 #22] 2,000
NAZLRFE ARES 7Yl
50,000& * 122 600
02 S3=4gl 5,800 7,300 1,500
NS H(XeE) FAEH & 332
= 2,000,000 2,000
NASHAZE SHOIX A2+ 22l
3,300,000 3,300
NeELSH & %ys 25 sl
500,000 500
202 04dl 8,000 6,000 2,000
01 =LHOHI 8,000 6,000 2,000
NAHELRFE 20 8,000,000 8,000
307 21201 & 2,000 2,000
02 QBN ER 2,000 2,000
NE2EE AsHAEL o280 g Y
Xl 2,000,000& 2,000
HsAHEIH 58,500 50,000 8,500
301 EtE NS 8,500 0 8,500
14 IIEt2 83 8,500 0 8,500
1)7?=el olAtHIE X
1,000,000& x2&H 2,000
NS AAFX LX=2 X2
200,0003 x2)H =% 102] 4,000




2A:

HEXIZ 4

ma: HEXE
ool = (Er9l: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A=l SXISSRAAY
500,000 *57H A 2,500
401 Al HIYL S CHYI 30,000 30,000
01 AlZH| 30,000 30,000
N7Aselel & =4 30,000,0003* 1044~ 30,000
402 2I2FXH=201H 20,000 50,000 30,000
01 IR SASE X (RHMITHR) 20,000 50,000 230,000
NAsel SO Cldl XA
5,000,000 =2JH 2= 10,000
750l FEATHAY
5,000,000 +27H 2= 10,000
MRS (ASAHAE)EEESUR(EX) 12,000 12,000 0
2 6,000
= 3,000
= 3,000
301 EtE N = 12,000 12,000 0
= 6,000
< 3,000
s 3,000
PRIEENE] 12,000 12,000 0
NURSY HEMEDS
6,000,000 *27H 2= 12,000
= 6,000
[ 3,000
T 3,000
7O 154,728 199,112 N44,384
= 40,500
[ 16,416
T 97,812
Y 8,008 7,112 89%6
201 er2 3| 3,208 2,912 2%
01 At2t2lt] 3,208 2,912 2%
NAIRES & 223l 50,000& * 122 600
DAAXIZ DHA 8,000& x22& »383] 608
NANEARIRE SAE
100,000 4 & »23] 800
NASHSRIEE HH=E
100,000& 6 & =22 1,200
202 04l 4,800 4,200 600
01 =LHA LI 4,800 4,200 600
NANXIZ SO 60,0002 x2& *402] 4,800
FHOIUAHOEH(EX) %,720 137,200 A42,480
= 40,000
= 16,416




2A:

HEXIZ 4

ma: HEXE
=5 A0 (EH9): ®2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
[ 38,304
307 212+01™ A, 720 137,200 A42,480
= 40,000
& 16,416
= 38,304
02 QIZHBAAIEE X A,720 137,200 A42,480
DEEANGALSHF XA
94,720,000 A, 720
= 40,000
& 16,416
= 38,304
HENGALSAHY XA 2Y(BX) 1,000 1,000 0
= 500
[ 500
201 B2 AY| 1,000 1,000 0
= 500
= 500
01 At 2elt] 1,000 1,000 0
NEHHYAIAHE K A2HHY|
100,000&*10& 1,000
= 500
= 500
HOHAHESXES 2,000 4,000 A2,000
201 B2 AY| 2,000 4,000 A2,000
01 AR2teld| 2,000 4,000 A2,000
DAAAE FX ES2E2(NS) M=
1,000,000& 25 2,000
HAHAAZEE = 39,000 35,000 4,000
301 LetEHZ 13,000 10,000 3,000
14 J|Et2 43 13,000 10,000 3,000
Nal7ogel X888 X
500,000&x4H 2,000
DAL =&z K&
3,000,000&+34 9,000
1)H 02! OIAMH| X 1,000,000 *2H 2,000
307 QIZt01 A 10,000 10,000
02 QB AAIEER 10,000 10,000
DAL =2yl K&
5,000,000 x2H 10,000
402 QI2E X201 ™ 16,000 15,000 1,000
01 QIZEXH2 AN 2 2 (RERITH ) 16,000 15,000 1,000
DASHER 2K BIF2HE At
16,000,000 x 10 2 16,000
HAHAAELE S| &K 2 10,000 10,000 0




2A:

HEXIZ 4

Hu: EX
el Aol (Sl &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 10,000 10,000
01 At2teltl 10,000 10,000
DTS Srats] 2A UXE U SLHHT
M 5,000,000& 10 223 10,000
HH2LIHI(AEXALEH) 38,254 40,160 21,906
el 3 29,854 0 29,854
el 24| 29,854 0 29,854
101 @124H| 29,854 0 29,854
01 &= 29,8%4 0 29,8%4
NAlZte 2R+ (62)
12,5313 x4 x30A1 2+ 123 18,045
NAIRIIZ2+2(73)
11,3192 %2 +30A1 2t 123 8,150
NARIIZ24+H(82)
10, 1623 » 12 *x30AI 2H= 123 3,659
Jl=3H| 8,400 40,160 A31,760
Jl=3H] 8,400 40,160 A31,760
201 er23| 1,080 1,200 A120
01 At2teltl 1,080 1,200 A120
NEA2L AR2eld] 120,000 9 1,080
202 048l 4,320 3,200 1,120
01 2L AL 4,320 3,200 1,120
NEA2g 2ol 60,0002 x8& +83] 3,840
NEA2E S23 30
60,0002 1 +83] 480
203 HR=H] 3,000 3,480 A480
M EAEER=A 3,000 3,000 0
1)152! Olst 250,000 122 3,000




